Journal section: Oral Surgery Publication Types: Research

doi:10.4317/medoral.25274

Predictors of health-related quality of life in Serbian patients with head and neck cancer

Miloš Čanković^{1,2}, Milan Tešić³, Marija Jevtić^{1,4}, Dejan Stevanović⁵, Milan B. Jovanović^{6,7}, Dejan Kostić^{8,9}, Jadranka Antić¹⁰, Sanja Krejović Trivić^{6,11}

- ² Dentistry Department, Oral medicine section, Novi Sad, Serbia
- ³ Military Medical Academy, Clinic for Maxillofacial surgery, Belgrade, Serbia
- ⁴ Institute of Public Health of Vojvodina, Novi Sad, Serbia
- ⁵ Clinic for neurology and psychiatry for children and youth, Belgrade, Serbia
- ⁶ University of Belgrade, Faculty of Medicine
- ⁷ Clinical Hospital Center Zemun, Department of ENT and Maxillofacial surgery, Belgrade, Serbia
- 8 University of Defense, Faculty of Medicine of Military Medical Academy
- 9 Military Medical Academy, Institute of Radiology, Belgrade, Serbia

¹⁰ University Clinical Center of Serbia, Clinic for Endocrinology, Diabetes and Metabolic Disease, Department of Endocrine tumors, Belgrade, Serbia

¹¹ University Clinical Center of Serbia, Clinic for ENT and Maxillofacial surgery, Belgrade, Serbia

Correspondence: Military Medical Academy, Clinic for Maxillofacial surgery No. 17 Crnotravska Street, Belgrade, Serbia dr.milantesic@gmail.com

Received: 17/12/2021 Accepted: 24/01/2022 Please cite this article in press as: Čanković M, Tešić M, Jevtić M, Stevanović D, Jovanović MB, Kostić D, *et al.* Predictors of health-related quality of life in Serbian patients with head and neck cancer. Med Oral Patol Oral Cir Bucal. 2022. doi:10.4317/medoral.25274

Abstract

Background: The aim of this study was to identify predictors of the Health-Related Quality of Life (HRQoL) in patients with head and neck cancers (HNCs).

Material and Methods: In total, 345 patients with HNCs were interviewed. A self-report questionnaire was administered to collect data about demographic characteristics, health status, smoking, alcohol consumption habits, and HRQoL. It were used the EORTC Instruments - Quality of Life Questionnaire-Core 30-questions (QLQ-C30), Quality of Life Questionnaire - Head and Neck Module 35-questions (QLQ-H&N 35) and OHIP-14 instrument for HRQoL assessments. Clinical information and treatment data were collected from medical records.

Results: Five groups of HRQoL predictors were identified: demographic, socioeconomic, behavioral, psychophysical, and clinical/treatment. These HRQoL predictors had a strong (i.e., age, level of social support and social contact, level of education, depression, fatigue, presence of gastrostomy, comorbidities, and use of pain medications and supplements), a moderate (i.e., marital status, smoking, sexuality problems, time since diagnosis, presence of tracheostomy, and side effects outcomes of radio and chemotherapy) and a small impact (i.e., employment/ financial difficulties, tumor site and stage, and surgical procedure).

¹ University of Novi Sad, Faculty of Medicine

Conclusions: Study identified nineteen predictors that had significant, moderate and small impact on the HRQoL of patients with HNCs. Some of the predictors, like levels of social support and social contact, depression, and comorbidities could be targets for innervations to improve HRQoL.

Key words: Quality of Life, oral health, combined modality therapy, treatment outcome.

Introduction

The term head and neck cancer (HNC) refer to the primary tumors originating from the structures of the larynx, pharynx, oral cavity, paranasal cavities, and salivary glands (1). Tobacco and alcohol use are a leading cause of HNC in about 75% of cases, and in addition to that, human papillomavirus (HPV) is the cause in 70% of cases of oropharyngeal carcinoma (2).

The standard in the treatment of HNC is based on tumor site and TNM stage (2). Early stages (I/II) are treated with a single modality therapy - surgery or radiotherapy (RT), depending on the tumor site and its extent, expected cure rate, as well as functional outcome and cosmesis (physical disfigurement; (2). Patients in advanced stages (III/IV) are treated with multimodal therapy, which includes surgery, RT and chemotherapy (CHT; (2). Thus, as HNC affects the physical structures necessary for normal functions (speech, chewing, swallowing, breathing, etc.), and therapy can lead to the deformities that negatively reflect psychosocial functioning, it is of great interest to evaluate the biopsychosocial consequences of the HNC and its modality treatment (1), especially if viewed form experiential frame of patients' (3). To achieve this goal, clinical studies require a response to treatment, survivorship and HRQoL (1-3).

Therefore, studies found a large number of clinical, therapeutic and socio-behavioral factors that are important predictors of the HRQoL of these patients (1,4-8). Some of the predictors with the strongest negative impact were the presence of a feeding tube and comorbidities (4). Predictors with moderate negative impact were the time since diagnosis, tracheotomy, modality treatment with the RT and CHT, tumor site and stage (4-6,9), while demographic data - age, unemployment, marital and socioeconomic status (8,10), behavioral data - alcohol consumption and smoking (2), sexual habits (11), family problems and social support (12) and psychic distress and depression (13) proved to be significant indicators to consider when deciding on conducting a treatment procedure.

Clinical characteristics as significant predictors of functional status are tumor attribute - site and stage, and modality treatment - surgery, RT and CHT (5,6,9,14). Modality treatments combined together, may cause side effects that can be very limiting for the patients (9). This, observed in the physical status, can lead to the lower value of body mass index due to malnutrition and loss of muscle mass (15), and consequently has repercussions on performing basic and Instrumental Activities of Daily Living (ADLs/IADLs; (16).

A number of cross-sectional studies have evaluated the predictors of HRQoL in a sample of patients with primary cancer at specific site and/or treated with specific therapeutic modality (1,6). Very little studies (1,3,4,9), and none in Serbia, have been conducted on patients with different site of HNC treated with a combination of treatment modalities; all together, as part of a larger intervention. This study aimed to determine the association of demographic, socioeconomic, and behavioral risk factors, as well as the clinical characteristics of the disease and the therapeutic models of treatment with HRQoL in patents with HNC.

Material and Methods

- Participants

This is a cross-sectional study, conducted at the ENT Department with Maxillofacial surgery of Clinical Hospital Centre Zemun, Belgrade, Serbia, in a period January the 1st 2014 - June the 30th 2018. The participation was on voluntary basis and to all participants was first explained the aim of the study, and then they signed provided written informed consent. The inclusion criteria were: patients with a histopathologically verified diagnose of squamous cell carcinoma of HN structures; upon completion and/or during the therapeutic procedure (surgical treatment or surgical treatment and/or RT and CHT); age, 18 years old or older.

Data for all analyses were available for 345 patients with HNC. The clinical characteristics of disease were collected from medical records: diagnosis (based on histopathological conformation), time since diagnosis, tumor site and stage (TNM classification), treatment modality (surgery, surgery with RT and/or CHT), presence of percutaneous gastrostomy (PEG) and tracheostomy (at the time of survey). Depending on the performed surgery, all patients were classified into two groups: those with non-mutilant (surgical excision i.e., extirpation of tumor without anatomical and functional deficits) and with mutilant (in addition to surgical excision i.e., extirpation, tissue resection and/or neck dissection was performed which resulted by anatomical and functional deficits). The modality treatment for each patient was decided by an oncological team within the standard treatment protocols. Basic and clinical characteristics of the patients are given in Table 1.

Basic characteristics of patients							
Gender, n (%)	257 (74.5) Male • 88 (25.5) Female						
Age: Mean (SD) years, Range	69.65 (11.04), 30–92						
Educational level, n (%)	61 (17.7) Elementary • 231 (67.0) High sch. • 53 (15.3) College/University						
Employment status, n (%)	91 (26.4) employed • 31 (9) unemployed • 223 (64.6) retired						
Relationship status, n (%)	224 (64.9) in a relationship: marriage, extramarital affairs						
Alcohol drinking, n (%)	309 (89.6) once to twice per month or less 36 (10.4) once or more per week						
Smoking, n (%)	248 (71.9) no • 61 (17.7) yes/sometimes • 36 (10.4) yes/daily						
Comorbidity, n (%), Number of comorbidities	18 (5.2) none • 38 (11) one • 90 (26.1) two • 70 (20.3) three 96 (27.8) four • 27 (7.8) five • 6 (1.7) six						
Comorbidity type, n (%)	26 (7.5) asthma/chronic bronchitis/emphysema 77 (12.3) coronary heart disease • 9 (2.6) heart attack 238 (69) hypertension • 7 (2.0) stroke • 222 (64.3) spinal diseases/arthrosis 29 (8.4) diabetes • 12 (3.5) allergies • 5 (1.4) cirrhosis of the liver 27 (7.8) urinary incontinence • 105 (30.4) depression						
Clinical characteristics of patients							
Time since diagnose $100 (29.0) < 1 \text{ month} \cdot 140 (40.6) 1 - 12 \text{ months} \cdot 105 (30.4) > 12 \text{ month}$							
Primary tumor site	155 (44.9) oral cavity and/or pharynx (epi, oro, hypo - pharynx) 100 (29.0) larynx • 90 (26.1) other						
TNM stage, n (%)	236 (68.4) I-II • 109 (31.6) III-IV						
Treatment type, n (%)	176 (51.0) surgery only • 113 (32.8) surgery with RT 13 (3.8) surgery with CHT • 43 (12.4) surgery with RT and CHT						
Type of surgery, n (%)	152 (44.1) mutilant surgery • 193 (55.9) non-mutilant surgery						
Current tracheotomy, n (%)	302 (87.5) no • 43 (12.5) yes						
Current PEG tube, n (%)	321 (93.0) no • 24 (7.0) yes						

Table 1: Basic and clinical characteristics of patients (n = 345).

n - sample size; SD - Standard Deviation; PEG - Percutaneous Endoscopic Gastrostomy

- Instruments

- European Organization for Research and Treatment of Cancer (EORTC) QLQ-C30 and QLQ-H&N35.

The QLQ-C30 is a 30-item instrument for HRQoL assessments that covers the cancer specific symptoms, treatment side-effects, and functional problems for all cancer patients (17). The items are grouped into six functional scales and nine symptom scales. TheOLO-H&N35 is a 35-item instrument for the assessment of symptoms associated specifically with HNC and its questions are grouped into seven subscales (18). For both instruments the answers were converted into linear scoring scale from 0 to 100, where scores of 100 represent the best outcomes on the OLO-C30 functioning scales and the worst outcomes on the QLQ-C30 and QLQ-H&N35 symptom scales. A higher score of symptom scale represents a more pronounced problem, which gives a poorer HRQoL (17,18). The Serbian versions were provided by the EORTC Group.

- Oral Health Impact Profile - OHIP 14.

The OHIP-14 instrument has 14 items about oral health

status (19). The total score is the sum of all answered items and can range from 0 to 56. The higher the score, the worse the impact on oral health (19). The Serbian version was previously developed and validated for HNC patients (20).

- European Health Interview Survey - EHIS.

Background data (demographic and socio-economic), health status (including comorbidities) and health determinants (life style) were assessed using the EHIS (21). The Serbian version of the EHIS was provided by the Institute of Public Health of Serbia "Dr Milan Jovanović Batut". The EHIS survey incorporated several validated instruments, including: Oslo Social Support Scale (OSSS-3), Personal Health Questionnaire Depression Scale (PHQ-8), and basic and instrumental ADLs (21). The OSSS-3 has three items measuring levels of social support (22). The total score is the sum of the questions answered and can be in a range of 3 to 14, where a higher score indicates a higher level of social support. The total score is divided into three groups of support level: low (3-8 score), moderate (9-11 score)

and high (12-14 score).

The Personal Health Questionnaire (PHQ-8) has 8 items related to depressive symptoms (23). The total score represents the sum of all the questions answered and it can range from 0 to 24. A score of 10 represents clinically relevant depressive symptoms.

The instruments for ADLs and IADLs measure basic and instrumental physical activities (24). All questions have answers rated on a 3-point Likert scale (from 0 =not at all, to 3 = no difficulty). The total score for ADLs is between 0 and 15, and for IADLs between 0 and 21. A lower score indicates a higher difficulty in performing basic and instrumental activities of a daily life.

- Data analysis

Regression analyses (i.e., forward stepwise method) were used to analyze HRQoL predictors considering the previous studies (4,25). The dependent variable was the score on the QLQ-C30 questionnaire, while independent variables were all demographic and clinical parameters and individual symptoms from the QLQ-C30 and H&N35 questionnaires. The number of respondents was determined according to the G * Power program (26). At least 220 subjects would be required to apply linear regression in the analysis of up to 20 predictor variables for $\alpha = 0.05$ and power 1- $\beta = 0.95$. Since all of the participants did not answer all the questions, the sample size varied for different results (ADLs). A value of p < 0.05 is considered statistically significant.

Results

Demographic and socio-economic status, health status (including comorbidities) and health determinants of participants, as well as clinical characteristics are given in the Table 1.

- Influence of HRQoL predictors on HNC patients

Nine regression analyzes were conducted to test the dependent variables of the six EORTC QLQ-C30 scales, OHIP scale, and the ADLs & IADLs scales, to determine predictors of HRQoL of HNC patients (Tables 2, Table 3).

In total 19 predictors had a significant, a moderate and a small impact on HRQoL, and these predictors are classified into five groups (Fig. 1).

Of all identified predictor variables, PEG tube was statistically associated with lower scores in 8 of 9 domains included in the HNC HRQoL (p<0.01). Comorbidity was a predictor of HRQoL that affected global, role, cognitive and social functioning and should be observed as an independent variable in QoL research (p<0.05). Age influenced 4 of the 6 QLQ-C30 functional scales as well as the OHIP score and ADLs (p<0.05), while education level significantly affected most aspects of QoL including 4 of the 6 QLQ-C30 functional scales, the OHIP score, and the ADLs/IADLs scales (p<0.05). Marital status influenced on physical functioning, global score

and ADLs (p<0.01).

Employment/financial difficulties was a predictor of physical and social functioning (p < 0.01), while analyzed separately, had impact on OHIP score, treatment type, tumor site and stage and time since diagnosis (p = 0.01). The level of social support and social contact ($p \le 0.01$; p < 0.05), as well as fatigue ($p \le 0.01$; p < 0.05), affected 5, i.e., 4 functional scales and the basic and instrumental ADLs. Pain and the use of painkillers and supplements had an impact on 5 of the 6 functional scales and on basic ADLs (p < 0.01). Depression was statistically associated with lower scores in 4 of the 6 functional scales as well as with ADLs (p < 0.05), and sexual problems had a similar impact, influencing 4 of the 6 functional scales and the OHIP score (p < 0.05). Smoking, the presence of a tracheostomy and the time since diagnosis were predictors with moderate impact on OoL (p < 0.05). Those who completed the questionnaires more than a year after their diagnosis had statistically higher OoL scores globally and for all five scales measuring functionality, compared to the other two groups (Bonferroni post-hoc analysis; p < 0.01). Also, there is a significant statistical difference in the values of OHIP-14 scores in relation to the time since the diagnosis. Respondents surveyed between 1 and 12 months after diagnosis (when they are most likely to be receiving therapy) have the highest scores on the OHIP questionnaire (p < 0.01).

Certain types of therapy, primarily a multimodal approach to the treatment that included both RT and CHT, showed to be moderate predictor of QoL with the greatest impact on H&N35 symptom scales: weight loss, diarrhea/constipation, nausea/vomiting, mouth opening problems and swallowing problems (p < 0.01). In addition to this, regarding tumor site, results showed that patients with laryngeal cancer and oropharyngeal cancers, compared with patients with tumors of other site, had significantly higher scores of symptoms of fatigue, nausea and vomiting, insomnia, loss of appetite and constipation (p < 0.01). Patients with larynx cancer and oropharyngeal cancers (oral cavity and pharynx) and patients who underwent RT/CHT in addition to surgical treatment had higher OHIP scores, than patients with other cancer site and patients who underwent only surgical treatment (p < 0.01). Also, groups with oropharyngeal cancers and larynx cancer had significantly lower scores of global, physical, emotional and social functioning compared to patients who had tumor of another site (p < 0.01). However, we observed that cognitive and Role functioning scores were significantly lower only in patients with oropharyngeal cancers, Table 4. Tumor stage (p < 0.05) and performed surgery with negative anatomic and functional outcomes (p < 0.01) were significant in a group diagnosed with tumor in the stage III/IV, with small impact on HRQoL, see Table 3.

Table 2: Regression	analysis of	HRQoL predictors	- Groups I - IV.
---------------------	-------------	------------------	------------------

	PREDICTOR	SCORE	n	β	SE	t	p	95% CI,	95% CI,	Impor-
Pr.		DL	2.45		1.20	2.00	0.01	Lower	Upper	
	Marital status (single)	Physical FN	345	-3.66	1.26	-2.89	< 0.01	-0.15	-1.10	0.03
		ADLS	239	-0.58	0.22	-2.66	< 0.01	-1.02	-0.15	0.05
I –		Social FIN	345	3.76	1.83	2.04	0.04	0.14	/.38	0.02
rap	A	Role FN	345	6.63	1.96	3.38	< 0.01	2.78	10.49	0.06
Gr0	Age < 75	ADLS	239	0.77	0.21	3.67	< 0.01	0.35	1.18	0.10
)em		IADLS	239	1.40	0.40	3.46	< 0.01	0.60	2.20	0.09
	A		345	-2.12	1.02	-2.06	0.03	-4.13	-0.10	0.03
	Age > 75	Physical FN	345	-5.63	1.44	-3.91	< 0.01	-2.80	-8.40	0.06
	Employment (retirement)	OHIP	345	-2.17	0.86	-2.52	0.01	-3.86	-0.48	0.04
<u>.</u>	Financial difficulties	Physical FN	345	3.13	1.23	2.53	0.01	0.70	5.57	0.02
c P		Social FN	345	4.77	1.88	2.53	0.01	1.06	8.48	0.03
li iii	Education level (elementary)	Physical FN	345	-7.42	1.88	-3.95	< 0.01	-11.12	-3./3	0.07
dn		Role FN	345	-8./3	3.10	-2.80	< 0.01	-14.85	-2.61	0.07
-ec		Cognitive FN	345	-/.64	2.85	-2.68	< 0.01	-13.25	-2.03	0.08
Cio		ADLS	239	-1.85	0.40	-4.54	< 0.01	-2.66	-1.05	0.20
So So		IADLs	239	-2.55	0.48	-5.23	< 0.01	-3.51	-1.59	0.21
	Education level (high school/	OHIP	345	1.80	0.84	2.13	0.03	0.14	3.4/	0.03
	conege)	Global FN	345	/.08	1.39	5.07	< 0.01	4.33	9.82	0.10
		Global FN	345	-2.36	1.14	-2.30	0.02	-4.88	-0.39	0.02
	Smoking status (no)	Physical FN	345	-2.69	1.05	-2.54	0.01	-4.//	-0.60	0.02
		Emotional FN	345	-3.96	1.14	-3.46	< 0.01	-6.21	-1./1	0.09
S	Social support (high)	Cognitive FN	345	6.07	1.60	3.79	< 0.01	2.92	9.23	0.10
cto		Social FN	345	6.68	1.60	4.17	< 0.01	3.53	9.84	0.09
I – edi		IADLS	239	0.94	0.43	2.1/	0.03	0.09	1.80	0.03
Pr	Service and (less)	Global FN	245	-8.40	1.40	-5.75	< 0.01	-11.28	-5.52	0.14
oul	Social support (low)	Physical FIN	245	-4.48	2.15	-5.21	< 0.01	-7.25	-1./4	0.04
Vio Vio		Clabel EN	245	-9.45	2.15	-4.38	< 0.01	-13.09	-5.21	0.12
eha	Social support (mediocre)	Global FN	245	-2.11	1.15	-2.43	0.02	-4.99	-0.34 9.51	0.14
P P		Diobal FIN	245	7.11	1.49	2.00	< 0.01	2.00	0.51	0.05
	Social contact (low symptom	Cognitivo EN	245	7.11	2.30	2.55	< 0.01	2.39	12.10	0.03
	level)	Social EN	345	6.70	2.19	3.04	< 0.01	2.40	11.17	0.09
		IADLe	230	1.8/	0.53	3.04	< 0.01	0.70	2 90	0.03
		Global FN	3/15	_0.11	1.63	-5 58	< 0.01	_12.32	5.90	0.07
		Diobal FN Divisional FN	345	-9.11	1.03	-3.38	< 0.01	7.41	1.42	0.13
	Sexuality	Role EN	345	-10.11	2.50	-4.03	< 0.01	-15.05	-1.42	0.03
	(high symptom level)	Cognitive FN	345	-12.80	2.50	-5.57	< 0.01	-17.32	-8.29	0.07
s		Social FN	345	-10.20	2.2	-4.46	< 0.01	-14.69	-5.70	0.22
ctol		Global FN	345	6.46	1.83	3 52	< 0.01	2.85	10.07	0.10
edi		Physical FN	345	7.04	1.05	4.03	< 0.01	3.61	10.07	0.05
Pr-		Role FN	345	7.01	3.00	2.60	0.01	1.01	13.74	0.00
Group I' Psychophysical	PHQ < 10	Emotional FN	345	9.71	2.17	4 46	< 0.01	5.43	14.00	0.01
		Social FN	345	8.03	2.75	2.91	< 0.01	2.60	13.46	0.04
		ADLS	239	0.73	0.32	2.23	0.02	0.08	1 38	0.03
		Global FN	345	3.90	1.62	2.39	0.02	0.70	7.10	0.02
		Physical FN	345	5.19	1.54	3.35	< 0.01	2.14	8.23	0.04
		Role FN	345	12.67	2.51	5.03	< 0.01	7.72	17.62	0.14
	Fatigue (low symptom level)	Social FN	345	10.40	2.36	4.39	< 0.01	5.74	15.06	0.10
		ADLs	239	0.65	0.29	2.19	0.02	0.06	1.24	0.03
		IADLs	239	2.61	0.50	5.16	< 0.01	1.61	3.61	0.21

n - sample size; β Coeff - β coefficient; SE - Standard Error; t - t - test; p - p value; CI - Confidence Interval; Pr. – predictors; FN – functioning; OHIP - Oral Health Impact Profile; PHQ - Personal Health Questionnaire; ADLs - Activities of Daily Living; IADLs - Instrumental Activities of Daily Living; PEG - Percutaneous Endoscopic Gastrostomy.

	PREDICTOR	SCORE	п	β Coeff.	SE	t	р	95% CI,	95% CI,	Impor-
	TNM -t (LU)	A DL -	220		0.22	2.07	- 0.01	Lower	Upper	
	INM stage (I-II)	ADLS Dhugiaal EN	239	0.66	0.23	2.87	< 0.01	0.20	1.12	0.06
	Padily pain (low loval)	Physical FN	245	1.24	2.04	2.03	0.04	0.07	4.41 9.01	0.01
	Level pain (low level)		245	4.00	2.04	2.38	0.01	0.80 9.21	0.91	0.02
	(low symptom level)	Dillr Polo EN	245	-5.01	2.26	-4.09	< 0.01	-0.31	-2.91	0.12
	Time since diagnosis	Social EN	245	0.39	2.20	2.91	< 0.01	12.14	11.05	0.04
	< 1 month	Global EN	245	-0.09	2.30	-5.60	< 0.01	-13.42 0.00	-4.30	0.11
		Role FN	345	-3.04	2.27	-3.20	< 0.01	-0.00	-2.00	0.00
	Time since diagnosis	Social EN	345	10.78	2.27	-5.18	< 0.01	15.40	6.07	0.00
	1-12 months	Emotional EN	345	-3.64	1.66	-7.18	0.02	-6.92	-0.36	0.03
		Global FN	345	-6.05	1.58	-3.81	< 0.02	-9.18	-2.93	0.05
		Role FN	345	-7.07	2.34	-3.01	< 0.01	-11.68	-2.45	0.06
	Weight loss (yes)	Global FN	345	-4.80	1.40	-3.41	< 0.01	-7.56	-2.03	0.04
	5 · · · · · · · · · · · · · · · · · · ·	Emotional FN	345	-3.40	1.49	-2.27	0.02	-6.35	-0.46	0.04
		Social FN	345	-4.95	2.16	-2.28	0.02	-9.21	-0.69	0.02
		OHIP	345	2.67	1.10	2.42	0.01	0.50	4.84	0.04
		IADLs	239	-1.92	0.47	-4.07	< 0.01	-2.85	-0.99	0.13
	Diarrhea	Global FN	345	-7.13	2.92	-2.44	0.02	-12.87	-1.38	0.02
	(high symptom level)	Physical FN	345	-6.06	2.68	-2.25	0.02	-11.35	-0.77	0.02
		Emotional FN	345	-7.71	3.16	-2.43	0.01	-13.94	-1.48	0.04
		Social FN	345	-9.66	4.33	-2.23	0.02	-18.18	-1.14	0.02
	Comorbidities (none)	Role FN	345	6.90	3.29	2.09	0.03	0.04	13.38	0.02
		Global FN	345	5.81	2.11	2.75	< 0.01	1.65	9.97	0.03
		Cognitive FN	345	6.56	3.16	2.07	0.03	0.33	12.79	0.03
ors		Social FN	345	10.23	3.10	3.30	< 0.01	4.13	16.33	0.05
ict	Constipation	Global FN	345	4.91	1.56	3.13	< 0.01	1.83	7.99	0.04
red	(low symptom level)	Physical FN	345	5.34	1.57	3.39	< 0.01	2.24	8.44	0.04
t P		Role FN	345	6.29	2.43	2.58	0.01	1.50	11.09	0.03
V –		Emotional FN	345	5.74	1.69	3.39	< 0.01	2.41	9.08	0.09
atn		Cognitive FN	345	6.60	2.48	2.66	< 0.01	1.72	11.47	0.05
rou Fre	Pain killers (yes)	Global FN	345	-7.51	1.59	-4.70	< 0.01	-10.64	-4.37	0.09
G linical and T		Physical FN	345	-6.51	1.42	-4.57	< 0.01	-9.31	-3.71	0.08
		Role FN	345	-8.77	2.44	-3.59	< 0.01	-13.57	-3.97	0.07
		Emotional FN	345	-6.99	1.41	-4.93	< 0.01	-9./8	-4.20	0.19
		Social FIN	220	-9.23	2.30	-3.91	< 0.01	-13.88	-4.59	0.08
0	Tumor site (other)	ADLS Cognitive EN	239	-0.09	0.28	-2.40	0.01	-1.23	-0.12	0.04
	fulliof site (other)	OHIP	345	-2.69	1.43	-1.99	0.04	-5.70	-0.03	0.02
	Nausea & Vomiting	Physical FN	345	-5.29	1.00	-3.30	< 0.01	-8.44	-2.14	0.04
	(high symptom level)	Social FN	345	-5.46	2.55	-2.13	0.03	-10.49	-0.43	0.04
	Opening mouth problems	Global FN	345	-3 37	1 16	-2.89	< 0.05	-5.67	-1.07	0.02
	(high symptom level)	Physical FN	345	-2.11	1.05	-2.00	0.04	-4.18	-0.04	0.01
		Social FN	345	-6.58	1.76	-3.74	< 0.01	-10.04	-3.12	0.07
		OHIP	345	3.41	0.96	3.55	< 0.01	1.52	5.31	0.09
	Swallowing problems (high)	Social FN	345	4.48	2.17	2.06	0.04	0.20	8.77	0.02
	Dietary supplements (ves)	Global FN	345	-3.06	1.13	-2.69	< 0.01	-5.30	-0.83	0.03
		Physical FN	345	-2.77	1.05	-2.62	< 0.01	-4.85	-0.69	0.02
	Tracheostomy (no)	Physical FN	345	7.08	1.46	4.84	< 0.01	4.21	9.96	0.09
		OHIP	345	-2.73	1.30	-2.10	0.03	-5.29	-0.17	0.03
		IADLs	239	1.55	0.70	2.21	0.02	0.17	2.93	0.03
	Surgery (non-mutilant)	OHIP	345	-3.46	1.26	-2.74	< 0.01	-5.94	-0.98	0.05
	PEG tube (no)	OHIP	345	-8.58	1.53	-5.58	< 0.01	-11.60	-5.56	0.22
	PEG tube (yes)	Global FN	345	-4.68	1.82	-2.56	0.01	-8.27	-1.09	0.02
		Physical FN	345	-5.50	1.82	-3.02	< 0.01	-9.09	-1.92	0.03
		Role FN	345	-7.65	2.85	-2.68	< 0.01	-13.26	-2.04	0.04
		Emotional FN	345	-6.92	1.91	-3.61	< 0.01	-10.68	-3.15	0.10
		Social FN	345	-13.68	5.39	-2.53	0.01	-24.30	-3.07	0.03
		IADLs	230	_1 9/	0.75	-2.56	0.01	-3.43	-0.48	0.05
		ADIS	220	2.40	0.20	6.77	< 0.01	2 10	1 75	0.03
		11DL3	239	-2.40	0.30	-0.//	I ≤ U.U.I	I -3.18	-1./2	0.55

n - sample size; β Coeff - β coefficient; SE - Standard Error; t - t - test; p - p value; CI - Confidence Interval; Pr. – predictors; FN – functioning; OHIP - Oral Health Impact Profile; PHQ - Personal Health Questionnaire; ADLs - Activities of Daily Living; IADLs - Instrumental Activities of Daily Living; PEG - Percutaneous Endoscopic Gastrostomy.

<i>n</i> = 345		Scores in relation to	Larynx Gro	Cancer	Oropharyng Grou	eal Cancers	Other Site	n value	
		cancer site	M	SD SD	M	SD	M	SD	p value
OHIP Score		OHIP total score*	27.48	15.45	26.97	14.16	16.18	8.45	< 0.01
		QoL global	39.83	24.95	38.23	24.02	49.91	20.51	< 0.01
		Physical FN	66.73	22.61	64.60	19.45	68.22	19.46	0.39
	Score	Role FN	50.33	30.43	46.99	30.42	59.81	25.47	< 0.01
		Emotional FN	66.08	19.97	66.56	20.70	84.35	9.90	< 0.01
		Cognitive FN	65.17	18.21	60.65	19.73	67.96	14.40	< 0.01
		Social FN	46.83	31.58	40.75	30.04	57.96	25.14	< 0.01
30		Fatigue	47.25	22.80	50.18	19.43	39.01	17.96	< 0.01
-Q		Nausea and Vomiting	14.50	17.51	18.61	21.81	0.74	3.45	< 0.01
0T		Pain	29.83	12.15	31.61	11.26	30.37	11.87	0.46
	smo	Dyspnea	18.00	17.99	14.84	17.47	13.33	16.42	0.16
	nptc	Insomnia	43.67	30.59	31.18	31.25	21.85	21.29	0.01
	Syr	Loss of Appetite	49.67	37.45	46.02	37.85	7.04	16.19	< 0.01
		Constipation	20.33	24.57	15.05	22.54	4.81	14.62	< 0.01
		Diarrhea	3.00	10.69	6.67	15.85	2.96	13.82	0.05
		Financial difficulties	46.00	32.40	49.25	30.70	35.93	25.10	< 0.01
	Score	H&N pain	31.08	16.15	27.37	16.33	9.44	8.02	< 0.01
		Swallowing problems	30.67	20.30	28.08	21.77	7.87	6.53	< 0.01
		Senses problems	28.67	21.20	23.76	23.72	1.30	7.59	< 0.01
		Speech problems	57.00	34.98	30.18	24.18	6.91	10.74	< 0.01
		Social eating	44.19	29.65	46.34	29.88	17.69	11.97	< 0.01
		Social contact	43.93	30.71	45.72	29.79	25.56	21.35	< 0.01
		Sexuality	59.00	30.65	63.98	28.01	55.74	23.19	0.07
-35		Problems with teeth	6.00	14.51	6.67	14.91	2.22	8.36	0.04
&N.		Opening mouth	26.94	18.24	27.74	21.09	13.33	16.42	< 0.01
H		Dry mouth	37.00	23.64	37.42	22.58	28.89	15.16	< 0.01
		Sticky saliva	43.00	25.64	40.86	23.28	29.63	15.36	< 0.01
		Coughing	29.67	21.13	20.00	17.24	5.93	12.82	< 0.01
		Felt ill	43.33	28.23	45.38	26.83	30.74	18.85	< 0.01
		Pain killers	78.00	41.63	87.10	33.63	82.22	38.45	0.16
		Supplements	66.00	47.61	56.13	49.78	13.33	34.18	< 0.01
		Feeding Tube (PEG)	1.00	10.00	14.19	35.01	2.22	14.82	< 0.01
		Weight loss	73.00	44.62	69.68	46.11	23.33	42.53	< 0.01

 Table 4: Questionnaire scores in relation to cancer site.

П

n - sample size; *M* - mean value; *SD* - Standard Deviation; *p* - *p* value; FN – functioning; PEG - Percutaneous Endoscopic Gastrostom; QoL - Quality of Life; H&N - Head and Neck; * Bonferroni post-hoc analysis: A vs. B p = 1.00; A vs. C < 0.01; B vs. C < 0.01.



RT/CHT - radio and chemotherapy outcomes: weight loss, diarrhea/constipation, nausea/vomiting, problems opening mouth, swallowing problems.

Fig. 1: HRQoL Predictors' Impact on HNC Patients.

Discussion

The demographic and socioeconomic aspect of the participants of our study matches with the epidemiological profile of the HNC found in literature, i.e. an older men, with completed elementary and/or high school, who were in some kind of partnership or single and exposed at least to one risk factor, such as smoking and/ or alcohol, with poor economic situation (9,10). Because multiple QoL scales are affected and patients are compelled to make lasting changes in their eating, swallowing, and communication habits, differences in QoL are expected among the HNC patients' groups depending on their age, marital, and educational background and employment status (4,8).

In our study, older age, single marital status, and low level of education, were shown to be significant predictors of lower global QoL and poorer physical functioning, particularly in the group with oropharyngeal carcinomas. The results also showed the lowest score for ADLs for males over the age of 75, who were single and had only elementary school education. Level of education has significantly affected global, physical, role and cognitive functioning, and the OHIP score and ADLs and IADLs, making it the most dominant independent socio-economic predictor. Single marital status primarily negatively affected physical functioning, global score and ADLs which supports a previously determined fact that the QoL is better in patients with partner, and a stable relationship is an important modifying factor of psychological distress, depression and better utility (13,27).

A strong social support was experienced by 34.2% of our respondents, while 40.3% experienced a mediocre support and 25.5% claimed a low social support. The results and percentage of the social support assessment in the HNC patients may vary from study to study, but all authors agree that the social support has a strong impact on the QoL in these patients, both during the treatment and after it (12).

Although smoking and alcohol consumption are the main cause of the HNC in about 75% of cases (2), as many as 89.6% of our study participants reported consuming alcohol up to twice a month, and 10.4% a couple of times a week. Among all participants, 28.1% were smoking regularly. Prolonged alcohol and tobacco consumption after diagnosis and during the treatment increases the risks significantly, not only from premature death, but also from causing the secondary tumor in more than one third of the HNC patients (2). Prior review studies and HNC guidelines showed that smoking and alcohol consumption are predictors of a prolonged need for nutrition by gastrostomy, which labels these habits as significant predictors of the global QoL (2). Based on our study, it is apparent that the most frequent

QoL predictor is PEG tube (gastrostomy) and it is more influential than presence of the tracheostomy. Our pa-

tients with gastrostomy had a significantly higher OHIP score, and lowered global, physical, role, emotional and social functioning, with reduced ADLs and IADLs at the same time. Similar to these, patients with placed tracheostomy reported impaired physical functioning, poorer IADLs and higher OHIP score. In addition to that, 94.6% of our patients included suffered from one or more comorbidities and hence, they had lower scores in four out of six scales - global, role, cognitive and social functioning. Previous study of Boje et al. found that the older the age the more frequent the comorbidities, so that the largest number of chronic diseases was reached around the age of 70 (28). This is in line with our findings of the average age of 69.65 years old. This deterioration of HRQoL on QLQ-C30 scales caused by presence of PEG tube, tracheostomy, comorbidities (associated with older age) continues as symptoms of fatigue, depression and sexuality problems are more pronounced, which is particularly observed in patients with oropharyngeal and laryngeal carcinomas, compared to patients with other cancer site; based on the clinical interview during the survey, 37.1% of patients had a PHQ score over ten, i.e. in the clinical range of significant symptoms of depression. Among the general symptoms, 52% of our patients claimed a low level, and 48% a high level of Fatigue. A low level of Sexuality was declared by 76.8%, and a high level by 23.2% patients.

Also, our study showed that the most pronounced symptoms as negative outcomes of RT/CHT were loss of appetite (observed in 41.2% of respondents), difficulties with opening the mouth (63.4% of respondents), swallowing problems (41.6% of respondents), dry mouth (20.6%), constipation (present in 9.9% of respondents) and diarrhea (2.3% of respondents). Weight loss during treatment was reported by 58.6% of respondents. At the same time, and in our results, the lower score of the respondents for physical functioning, Bansal et al. explained by a causal relationship between deterioration in physical functioning and increased symptoms such as fatigue, pain, depression, and loss of appetite (29). In our study, patients with a high level of fatigue, lower level of education and social support, who had PEG, tracheostomy and experienced a weight loss, showed worse ADLs and IADLs scores, which correlates with the results of Blanco et al. who showed that the more pronounced the symptoms of pain, fatigue and weight loss, the more pronounced the decrease on the functional scale, with the loss of physical, social and emotional functions and role functioning (30). The analysis of our study shows that the most common limitations related to basic ADLs are the inability to perform personal hygiene and going for a walk, while for instrumental ADLs are the inability to do housework, shopping and use of public transport, which is also the conclusion of Neo at al. (16). In general, instrumental ADLs requiring physical functions were more commonly affected than those requiring cognitive functions.

In our study, H&N pain proved to be a significant predictor variable, particularly in groups of patients with laryngeal cancer and oropharyngeal cancers. It can be said that in this case, H&N pain is a predictor of cancer localization, since these two groups of patients had significantly higher scores on the scales of both total OoL and H&N-35 modulus. Also, these two groups of patients on the scales of the H&N35 module - Painkillers and Supplements, had significantly higher scores than patients with cancer of other localization. Likewise, on the scale of general QoL symptoms, a prominent level of pain during treatment was reported by 4.3% of patients, and a low level by 95.7%. Yet, 38.8% of them claimed for the presence of elevated levels of pain in the head and neck, and 61.2% for low levels. During treatment process, 83.2% of the patients in our study used painkillers, while 16.8% did not use them. Also, 47.8% of respondents used various supplements. These findings confirm the previously established fact that high standard deviation of Pain scale from the mean, suggests a large fickleness in its perception (9) and that it is necessary to ensure proper nutrition of patients regardless of the increased use of pain killers and dietary supplements.

Regarding the influence of time passed since a diagnosis, our study showed a deterioration in HRQoL in the domain of global and role functioning, as well as emotional and social functioning, especially during the first month of initiated treatment. This deterioration continues for up to 12 months from diagnosis and ongoing treatment (RT/CHT), indicating both a dominant influence of treatment modality and the time since diagnosis. Also, those who completed the questionnaires more than 12 months after diagnosis, had statistically higher global QoL scores, as well as for all five scales measuring functionality and the lowest OHIP scores (Bonferroni post-hoc analysis; p < 0.01).

The obtained results reflect previous researches, in which it has been proven that over time there is a gradual improvement in the QoL of patients with HNC and that patients in whom 12 or more months have passed since diagnosis had better scores related to QoL predictors (1,4,6,14). This can be explained by the fact that over time, the negative consequences of illness and its treatment are really mitigated, but also with the gradual adjustment and acceptance of the recent changes in health status by the patients themselves. Also, it was shown that the patients who experienced stronger social support either by their family members, friends, colleagues or group therapy could cope with the treatment consequences more easily, have recovered more quickly and finally accepted the new life circumstances they found themselves in (12).

Tumor site and stage undoubtedly have not only strong prognostic significance on the course of the disease but also on the functioning of the patient (4,5). It must be noted that in our study cancer site, stage and the performed surgery proved to be low significant predictors of QoL, primarily with an impact on cognitive and physical functioning and daily life activities. We found that in patients who underwent mutilant (disfiguring) surgery (neck dissection, total laryngectomy, partial mandibulectomy/maxillectomy) as well as in those who underwent postoperative RT/CHT the scores on the ADLs and IADLs scales were significantly lower comparing with patients with a cancer of other site and those in whom only surgical treatment was performed. Also, the results of few studies showed that patients with advanced tumor stage (stage III and IV) have a far poorer OoL compared to patients with tumor stage I and II, both at the time of diagnosis and after one year of follow-up (5,6,14), which is also confirmed by the results

of our study. The limitations of our study, are the difficulties in obtaining a satisfactory sample. As part of a larger intervention venture to assess HRQoL, a higher decrement should be expected in a number of scales, observed within various predictors. A likely reason for such results is the large number of different cancer localizations and different surgical procedures performed and in unequal numbers in all participants, which consequently, despite the statistical attempt to homogenize the sample, inevitably leads to its dispersion. Consequently, QoL decrements that could be expected in population with different cancer localization and stages may be related to therapy and number of therapeutic modalities rather than tumor site and stage, making them less significant predictors of QoL in multivariate analyzes as our study is.

Conclusions

Study identified nineteen predictors that had significant, moderate and small impact on the HRQoL of patients with HNCs. Some of the predictors, like levels of social support and social contact, depression, and comorbidities could be targets for innervations to improve HRQoL. Future studies should address greater emphasis on the development of strategies for improving the QoL and drivers of changes in public health programs, based on already established facts.

References

1. Murphy BA, Ridner S, Wells N, Dietrich M. Quality of life research in head and neck Cancer: A review of the current state of the science. Crit Rev Oncol Hemato. 2007;67:251-67.

 Cohen EE, La Monte SJ, Erb NL, Beckman KL, Sadeghi N, Hutcheson KA, *et al.* American Cancer Society Head and Neck Cancer Survivorship Care Guideline. CA Cancer J Clin. 2016;66:203-39.
 Jacobson MC. The experience of head and neck cancer survivorship (including laryngectomy): an integrated biopsychosocial model. Curr Opin Support Palliat Care. 2018;12:65-73.

4. Terrel JE, Ronis DL, Fowler KE, Bradford CR, Chepeha DB, Prince ME, *et al.* Clinical predictors of quality of life in patients with head and neck cancer. Arch Otolaryngol Head Neck Surg. 2004;130:401-8.

5. Roets E, Tukanova K, Govarts A, Specenier P. Quality of life in oropharyngeal cancer: a structured review of the literature. Support Care Cancer. 2018;26:2511-18.

6. Rathod S, Livergant J, Klein J, Witterick I, Ringash J. A systematic review of quality of life in head and neck cancer treated with surgery with or without adjuvant treatment. Oral Oncol. 2015;51:888-900.

7. Tinti S, Cassani G, Pinna I, Alberti A, Destrebecq A. [Head and neck neoplasms and palliative care, symptoms and quality of life: literature review]. Recenti Prog Med. 2020;111:722-32.

8. Choi SH, Terrell JE, Fowler KE, McLean SA, Ghanem T, Wolf GT, *et al.* Socioeconomic and other demographic disparities predicting survival among head and neck cancer patients. PLoS One. 2016;11:e0149886.

9. Melo Filho MR, Rocha BA, Pires MB, Fonseca ES, Freitas EM, Martelli Junior H, *et al.* Quality of life of patients with head and neck cancer. Braz J Otorhinolaryngol. 2013;79:82-8.

10. Stoyanov GS, Kitanova M, Dzenkov DL, Ghenev P, Sapundziev N. Demographics of Head and Neck Cancer Patients: A single Institution Experience. Cureus. 2017;9:e1418.

11. Melissant HC, Jansen F, Schutle LER, Lissenberg-Witte BI, Butter J, Leemaus CR, *et al.* The course of sexual interest and enjoyment in head and neck cancer patients treated with primary (chemo) radiotherapy. Oral Oncol. 2018;83:120-26.

12. Richardson AE, Broadbent E, Morton RP. A systematic review of psychological interventions for patients with head and neck cancer. Support Care Cancer. 2019;27:2007-21.

13. Mehnert A, Brahler E, Faller H, Harter M, Keller M, Schulz H, *et al.* Four-week prevalence of mental disorders in patients with cancer across major tumor entities. J Clin Oncol. 2014;32:3540-6.

14. Nelke KH, Pawlak W, Gerber H, Leszczyszyn J. Head and neck cancer patients' quality of life. Adv Clin Exp Med. 2014;23:1019-27. 15. Bressan V, Bagnasco A, Aleo G, Catania G, Zanini MP, Timmins F, *et al.* The life experience of nutrition impact symptoms during treatment for head and neck cancer patients: A systematic review and meta-synthesis. Support Care Cancer. 2017;25:1699-712.

16. Neo J, Fettes L, Gao W, Higginson IJ, Maddocks M. Disability in activities of daily living among adults with cancer: A systematic review and meta-analysis. Cancer Treat Rev. 2017;61:94-106.

17. Aaronson NK, Ahmedzai S, Bergman B, Bullinger M, Cull A, Duez NJ, *et al.* The European Organization for Research and Treatment of Cancer QLQ-C30: a quality-of-life instrument for use in international clinical trials in oncology. J Natl Cancer Inst. 1993;85:365-76.

18. Bjordal K, Hammerlid E, Ahlner-Elmqvist M, de Graeff A, Boysen M, Evensen JF, *et al.* Quality of life in head and neck cancer patients: validation of the European Organization for Research and Treatment of Cancer Quality of Life Questionnaire-H&N35. J Clin Oncol. 1999;17:1008-19.

19. Slade GD. Derivation and validation of a short-form Oral Health Impact Profile. Community Dent Oral Epidemiol. 1997;25:284-90.

20. Tesic M, Cankovic M, Jevtic M, Stevanovic D. Validation of the oral health impact profile - 14 in patients with head and neck cancer. Med Oral Patol Oral Cir Bucal. 2020;25:e739-44.

21. Finger JD, Tafforeau J, Gisle L, Oja L, Ziese T, Thelen J, *et al.* Development of the European Health Interview Survey - Physical Activity Questionnaire (EHIS-PAQ) to monitor physical activity in the European Union. Arch Public Health. 2015;73:59.

22. Dalgard OS, Dowrick C, Lehtinen V, Vazquez-Barquero JL, Casey P, Wilkinson G, *et al.* Negative life events, social support and gender difference in depression: A multinational community survey with data from the ODIN study. Soc Psychiatry Psychiatr Epidemiol. 2006;41:444-51.

23. Kroenke K, Strine TW, Spitzer RL, Williams JBW, Berry JT, Mokdad AH. The PHQ-8 as a measure of current depression in the

general population. J Affect Disord. 2009;114:163-73.

24. Spector WD, Fleishman JA. Combining activities of daily living with instrumental activities of daily living to measure functional disability. J Gerontol B Psychol Sci Soc Sci. 1998;53:S46-57.

25. Wells M, Swartzman S, Lang H, Cunningham M, Taylor L, Thomson J, *et al.* Predictors of quality of life in head and neck cancer survivors up to 5 years after end of treatment: a cross-sectional survey. Support Care Cancer. 2016;24:2463-72.

26. Faul F, Erdfelder E, Buchner A, Lang AG. Statistical power analyses using G*Power 3.1: Tests for correlation and regression analyses. Behav Res Methods. 2009;41:1149-60.

27. Liao LJ, Hsu WL, Lo WC, Cheng PW, Shueng PW, Hsieh CH. Health-related quality of life and utility in head and neck cancer survivors. BMC Cancer. 2019;19:425.

28. Boje CR, Dalton SO, Gronborg TK, Primdahl H, Kristensen CA, Andersen E, *et al.* The impact of comorbidity on outcome in 12 623 Danish head and neck cancer patients: A population based study from DAHANCA database. Acta Oncol. 2013;52:285-93.

29. Bansal M, Mohanti BK, Shah N, Chaudhry R, Bahadur S, Shukla NK. Radiation related morbidities and their impact on quality of life in head and neck cancer patients receiving radical radiotherapy. Qual Life Res. 2004;13:481-8.

30. Alvarez-Buylla Blanco M, Herranz Gonzalez-Botas J. Quality of life evolution in patients after surgical treatment of laryngeal, hypopharyngeal or oropharyngeal carcinoma. Acta Otorrinolaringol Esp. 2011;62:103-12.

Funding

There were no funds received for this study.

Conflict of interest

The authors declare that there are no conflicts of interest.

Ethics

This study was approved by the institutional Ethics Committee (No. 27/1-01/17, Clinical Hospital Center Zemun and No. 01-39/153/1, Faculty of Medicine, University of Novi Sad).

Authors contributions

All authors contributed to the study's conception, design and methodology developed. Material preparation, experimental work, data collection, and analysis were performed by Milan Tešić, Miloš Čanković, Dejan Stevanović. The first draft of the manuscript was written by Milan Tešić, Miloš Čanković and Dejan Stevanović, and all authors commented on previous versions of the manuscript. All authors read and approved the final manuscript.